RAM® FORM-FIT CRADLE HOLDER
ASSEMBLY INSTRUCTIONS FOR RUGGED USE

—
HARDWARE INDEX:
A. TORX DRIVE T-5H WRENCH (QTY. 1)
B. #2 X %" SHEET METAL SCREW (QTY. 4) F
C. #8-32 X 3/4” MACHINE SCREW (QTY. 2) = ? § E E \{
D. #8-32 X 5/8” MACHINE SCREW (QTY. 2)
E. #8-32 X %" MACHINE SCREW (QTY. 2) - —
F. #8-32 NYLOCK NUT (QTY. 2) C j D @ @
1. INSERT (F) NUTS INTO FRONT POCKETS OF CRADLE, NYLON 2. USING (A) WRENCH, REMOVE THE FOUR FACTORY SCREWS FROM BEHIND THE FACTORY
INSERTS FACING FORWARD. DOCK INCLUDED WITH YOUR GPS DEVICE. STORE SCREWS FOR POSSIBLE FUTURE USE

4 i

FACTORY DOCK
FACTORYﬁ
P, /i SCREWS
3. SNAP FACTORY DOCK INTO CRADLE. WHILE HOLDING IN PLACE, 4. USE APPROPRIATE LENGTH (C, D or E) SCREWS TO ATTACH THE
ATTACH (B) SCREWS THROUGH BACK OF CRADLE TO SECURE INTO RAM® DIAMOND BALL BASE TO BACK OF CRADLE, AGAINST (F) NUTS.

BACK OF FACTORY DOCK. DO NOT OVER TIGHTEN

RECOMMENDED: USE PEN OR
SCREWDRIVER TO HOLD (F) NUTS IN
PLACE WHILE ATTACHING SCREWS

DIAMOND BALL BASE NOT INCLUDED

) DO NOT TURN HOLDER UPSIDE DOWN. S .
RAM Mounting Systems HOLD UPRIGHT WHEN TIGHTENING (B) SCREWS ; e
8410 Dallas Ave S )
Seattle, WA 98108 '
Phone: (206) 763-8361 Mo UN s

Fax: (206) 763-9615
www.rammount.com

support@rammount.com RMR-INS-GA54
This document, including images, may not be reproduced partly or fully without the expressed written consent of National Products, Inc.

RAM® FORM-FIT CRADLE HOLDER
ASSEMBLY INSTRUCTIONS FOR RUGGED USE

—
HARDWARE INDEX:
A. TORX DRIVE T-5H WRENCH (QTY. 1)
B. #2 X %" SHEET METAL SCREW (QTY 4)
C. #8-32 X 3/4” MACHINE SCREW (QTY. 2) V § E § §

D. #8-32 X 5/8” MACHINE SCREW (QTY. 2)

E. #8-32 X /2" MACHINE SCREW (QTY. 2) = —— E ﬁ
<t o @ &

F. #8-32 NYLOCK NUT (QTY. 2)

1. INSERT (F) NUTS INTO FRONT POCKETS OF CRADLE, NYLON 2. USING (A) WRENCH, REMOVE THE FOUR FACTORY SCREWS FROM BEHIND THE FACTORY
INSERTS FACING FORWARD. DOCK INCLUDED WITH YOUR GPS DEVICE. STORE SCREWS FOR POSSIBLE FUTURE USE
F —
FACTORY DOCK
FACTORY—F
. : “ SCREWS
3. SNAP FACTORY DOCK INTO CRADLE. WHILE HOLDING IN PLACE, 4. USE APPROPRIATE LENGTH (C, D or E) SCREWS TO ATTACH THE

ATTACH (B) SCREWS THROUGH BACK OF CRADLE TO SECURE INTO
BACK OF FACTORY DOCK. DO NOT OVER TIGHTEN RAM® DIAMOND BALL BASE TO BACK OF CRADLE, AGAINST (F) NUTS.

RECOMMENDED: USE PEN OR
SCREWDRIVER TO HOLD (F) NUTS IN
PLACE WHILE ATTACHING SCREWS

DIAMOND BALL BASE NOT INCLUDED
Fax: (206) 763-9615

RARAM
MOUNTS

support@rammount.com RMR-INS-GA54
This document, including images, may not be reproduced partly or fully without the expressed written consent of National Products, Inc.

DO NOT TURN HOLDER UPSIDE DOWN.

RAM Mounting Systems
8410 Dallas Ave HOLD UPRIGHT WHEN TIGHTENING (B) SCREWS

Seattle, WA 98108
Phone: (206) 763-8361




	Page 1

